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Binomial Distribution

3.1.6. Let Y be the number of successes throughout n independent repetitions of
a random experiment with probability of success p = Determine the smallest
value of n so that P(1 <Y) > 0.70.
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Poisson Distribution

3.2.8. Let the number of chocolate chips in a certain type of cookie have a Poisson
distribution. We want the probability that a cookie of this type contains at least
two chocolate chips to be greater than 0.99. Find the smallest value of the mean
that the distribution can take.
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Normal Distribution

3.4.6. If X is N(u,02?), show that E(|X — p|) = 01/2/7.
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Exponential Distribution

On the average, a certain computer part lasts ten years. The length of time

the computer part lasts is exponentially distributed. What is the probability
that a computer part lasts more than 7 years?
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Multivariate Normal Distribution

3.5.8. Let
Fl) = (1/27) exp H(x? N y2>] {1+ e H(w? . 2)] b

where —oco < = < 00, —00 < y < oo. If f(x,y) is a joint pdf, it is not a normal
bivariate pdf. Show that f(z,y) actually is a joint pdf and that each marginal pdf
is normal. Thus the fact that each marginal pdf is normal does not imply that the
joint pdf is bivariate normal.
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y2-Distribution

3.3.17. Find the uniform distribution of the continuous type on the interval (b, ¢)

that has the same mean and the same variance as those of a chi-square distribution
with 8 degrees of freedom. That is, find b and c.
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Student’s t-Distribution

3.6.11. Show that the t-distribution with » = 1 degree of freedom and the Cauchy

distribution are the same.
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F-Distribution

3.6.8. Let F have an F-distribution with parameters r; and r5. Argue that 1/F
has an F-distribution with parameters 75 and 7.

R@uiw) : Amuour X
2 1 - _U/ﬂ_
ij UaZery, Voo, ond UV T
Qe im(@}w/\afem%/ , the olevibution 97[ v I NS
_U/re = O /n U/ v

W=~y s i the F- ol istvibution with

the A(agrws Df fyawlawn r.v. . olenoted
bﬁ Wa For.n).

\//Yp

Thus, 1/E hoe vhe F -distibution

W Hh Pomwlefevs Yo antk v, .



Mixture Distribution

3.7.4. Let X have the conditional geometric pmf §(1—60)*~1, 2 =1,2,..., where 6
is a value of a random variable having a beta pdf with parameters a and (3. Show
that the marginal (unconditional) pmf of X is
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Questions



